1 3. AREFE (TERBID

SEMDEHREE

RERXS SERDAESE 1FEEDEEE 2FERDNERE SERDNERE
(F) (F) (M) (M)
. HE 245, 800 48, 600 98, 600 98, 600
. k& 1, 568, 360 236, 760 860, 280 471,320
. HERE 535, 310 85, 790 343, 160 106, 360
. RIS AE 1, 200, 000 400, 000 400, 000 400, 000
BIEERE 127, 600 21, 200 63, 600 42,800
. BfgH 550, 000 150, 000 200, 000 200, 000
. RE 90, 000 10, 000 30, 000 50, 000
g€ 924, 450 36, 050 444,200 444,200
. HERBE 158, 480 11, 600 560, 160 186, 720
a H 6, 000, 000 1,000, 000 3, 000, 000 2,000, 000




OFEHDREE  (TERHA
RERXS & # B FE RN ;
(M)
1. #E 48, 600
mREHE
A x 1E x @8, 100 x 2t= 48,600 H
2. k& 236, 760
MEHTEERE
AEESHE 15828 (HiR)
A x 2 x @39,460 H = 236,760 M
(@=:EH21, 160 + B X5, 200/ +7&:8:%413, 100M)
3. HEME 85, 790
—fRHFE M
274 10/ % @700 M 7,000 M
EiLAE 10tyh % @690 M = 6,900 M
O E—FfRA4 5%f x @3,500 M = 17,500 M
CPVYZ+H M@ x @54,390 M 54,390 H
4. HIREAXE 400, 000
MRHEE 20088 x @2,000 M = 400,000 M
5 BIEEWRE 21,200
hEH (TFK) 80MEIF x 100 & = 8,000 H
270mYNF x40 & = 10,800 M
20MY)F x 10 M = 2,400 H
6. EfEs 150, 000
RiGEH 1B x @50,000 M = 50,000 M
HHRELH 1 x @ 100,000 A = 100,000 M
1. |& 10, 000
MRITERBHF AN
SA x 1E x @2,000 A = 10,000 M
8. & 36, 050
EHMMEEL
TA x 35Bf x @1,030 H = 36,050 M
9. MRBEE 11, 600
JE—K 3208 x @10 M@ = 3,200 M
A F 8 104 x @840 H = 8,400 M
=) & 1,000, 000




